RIS (55 7 £B%) i

3041 2H26H

= IR 4 CSHEBBTEE

R&EEL BHR £ B ZF @

FRk 3 0 FEBBEHFRINHREICONT

ERMTBAEBEDREORMICETIRMETRE 1 HOREICESE,
BIED &30 Fak 3 O FEBBIEBRNIHEELRELE T,



(3#E)

1 A
2 X H
3 B &

YRR 3 0 EERERHRINIHREE
(ERi3 04 A~FK3 041 2A)

R4 BIRHES . AWK SN

B TR B T 1,350,000 M (H%E30,000H X 9 A X5 A)
FILE 4 H
&8 1,350,004 ™
p M & #H fi =3
A MR R 627,944 |TTEIREZRE
W s # 0
s #®  # 0
(7 - ¢ 0
G 0
B E T Eh B
= & E 0
& F1E & 2,945 |2 B — (%%
R AN < ¢ 44,761 |HERF
A B 0
' B = 282,938 |{HFEM. UV — AEE
= H 958, 588

391,416 H




